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o= 59,469
= 138,761
402 SI2HXHE0| ™ 3,666,704 0 3,666,704
= 2,195,100
=} 419,401
= 1,052,203
02 CI2ZtXIE A E X (0| XM THH) 3,666,704 0 3,666,704
OXMTHMAHHX SSE XA 3,666,704
= 2,195,100
& 419,401
= 1,052,203
ESFY HYHENEH X 15,000 15,000 0
& 6,000
= 9,000
402 SI2FXHE0| & 15,000 15,000 0
& 6,000
= 9,000
02 CIZEXIE A EX (0| XM THL) 15,000 15,000 0
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307 2iz2to| & 610,000 300,000 310,000
04 QIZ2tSHAFAFS B X 10,000 0 10,000
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ONEE2d & =8 5,000
OZHl dtH2(22H) 2,000,000& = 23| 4,000
OANEE A= 500,000& * 12& 6,000

02 33294l 37,320 0 37,320
O&Il& 2,000,000& = 12& 24,000
Odtote = 700,000& = 12& 8,400
OQHY AMHIA OlEs2 160,000& * 128 1,920
OA&E &Yl KXl 3,000

206 T 2 bl 15,000 0 15,000

01 &2 bl 15,000 0 15,000
OX&tA 2Jls XN PL(HE EHAEE) 10,000
OZ8 .32 #¢ 5,000

401 Al B2 2 0HHI 30,000 0 30,000

01 A& HI 30,000 0 30,000
OSsEtel (& A) 10,000
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405 XtabF SHI 2,000 0 2,000
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01 = LH 4 Hi 2,500 3,000 A 500
OXNGZSH LAel At HRF2 2,500




M M
M DREF Y O
& D88 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
e 1,250
= 250
= 1,000
206 M= Hl 6,000 10,000 A4,000
s 3,000
< 600
s 2,400
01 =8l 6,000 10,000 24,000
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